

1-1-2016

On congruences related to central binomial coefficients, harmonic and Lucasnumbers

SİBEL KOPARAL

NEŞE ÖMÜR

Follow this and additional works at: <https://dctubitak.researchcommons.org/math>



Part of the [Mathematics Commons](#)

Recommended Citation

KOPARAL, SİBEL and ÖMÜR, NEŞE (2016) "On congruences related to central binomial coefficients, harmonic and Lucasnumbers," *Turkish Journal of Mathematics*: Vol. 40: No. 5, Article 4. <https://doi.org/10.3906/mat-1504-16>

Available at: <https://dctubitak.researchcommons.org/math/vol40/iss5/4>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals.

On congruences related to central binomial coefficients, harmonic and Lucas numbers

Sibel KOPARAL*, Neşe ÖMÜR

Department of Mathematics, Faculty of Science and Arts, Kocaeli University, Kocaeli, İzmit, Turkey

Received: 10.04.2015

Accepted/Published Online: 16.12.2015

Final Version: 21.10.2016

Abstract: In this paper, using some combinatorial identities, we present new congruences involving central binomial coefficients and harmonic, Catalan, and Fibonacci numbers. For example, for an odd prime p , we have

$$\sum_{k=1}^{(p-1)/2} (-1)^k \binom{2k}{k} H_{k-1} \equiv \frac{2^p}{p} (2F_{p+1} - 5^{(p-1)/2} - 1) \pmod{p},$$

$$\sum_{k=0}^{(p-1)/2} \frac{H_k C_k}{(-4)^k} \equiv 2 \frac{Q_{p+1}}{p} - \frac{2^{p+1}}{p} (1 + 2^{(p+1)/2}) \pmod{p},$$

and for $\left(\frac{5}{p}\right) = 1$,

$$\sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1} F_k}{(-4)^k} \equiv \frac{1}{p} (F_{2p+1} - F_{p+2}) - \frac{2^p}{p} F_{p-1} \pmod{p},$$

where $\{F_n\}$ is the Fibonacci sequence and $\{Q_n\}$ is the Pell–Lucas sequence.

Key words: Central binomial coefficients, harmonic numbers, Catalan numbers, Fibonacci numbers, Pell numbers

1. Introduction

The Fibonacci sequence $\{F_n\}$ and the Lucas sequence $\{L_n\}$ are defined by the recursions for $n > 1$,

$$F_{n+1} = F_n + F_{n-1} \text{ and } L_{n+1} = L_n + L_{n-1},$$

where $F_0 = 0$, $F_1 = 1$ and $L_0 = 2$, $L_1 = 1$, respectively. The Binet formulae are

$$F_n = \frac{\alpha^n - \beta^n}{\alpha - \beta} \text{ and } L_n = \alpha^n + \beta^n,$$

where $\alpha, \beta = (1 \pm \sqrt{5})/2$.

The Pell sequence $\{P_n\}$ and the Pell–Lucas sequence $\{Q_n\}$ are defined by the recursions for $n > 1$,

$$P_{n+1} = 2P_n + P_{n-1} \text{ and } Q_{n+1} = 2Q_n + Q_{n-1},$$

*Correspondence: sibel.koparal@kocaeli.edu.tr

2010 AMS Mathematics Subject Classification: 11B39, 05A10, 05A19.

where $P_0 = 0$, $P_1 = 1$ and $Q_0 = Q_1 = 2$, respectively. The Binet formulae are

$$P_n = \frac{\gamma^n - \delta^n}{\gamma - \delta} \quad \text{and} \quad Q_n = \gamma^n + \delta^n,$$

where $\gamma, \delta = (1 \pm \sqrt{2})$.

Harmonic numbers H_n are defined as for $n > 0$,

$$H_n = \sum_{k=1}^n \frac{1}{k},$$

where $H_0 = 0$. The first few harmonic numbers are $1, \frac{3}{2}, \frac{11}{6}, \frac{25}{12}, \dots$.

The Catalan numbers are defined by, for $n > 0$,

$$C_n = \frac{1}{n+1} \binom{2n}{n} = \binom{2n}{n} - \binom{2n}{n+1}.$$

For a prime p and an integer $a \not\equiv 0 \pmod{p}$, we take $q_p(a)$ to denote the Fermat quotient $(a^{p-1} - 1)/p$. For an odd prime p and an integer a , $\left(\frac{a}{p}\right)$ denotes the Legendre symbol defined by

$$\left(\frac{a}{p}\right) = \begin{cases} 0 & \text{if } p|a, \\ 1 & \text{if } a \text{ is a quadratic residue modulo } p, \\ -1 & \text{if } a \text{ is a quadratic nonresidue modulo } p. \end{cases}$$

Let \mathbb{Z} be the set of integers, and for an odd prime p , let \mathbb{Z}_p denote the set of those rational numbers whose denominator is not divisible by p . For an integer D , $\sqrt{D} \in \mathbb{Z}_p$ if $\left(\frac{D}{p}\right) = 1$ and $\sqrt{D} \notin \mathbb{Z}_p$ if $\left(\frac{D}{p}\right) = -1$ in [11].

Sun [8] gives the following result:

$$\sum_{k=0}^{p-1} \frac{C_k}{m^k} \equiv \frac{m-4}{2} \left(1 - \left(\frac{m(m-4)}{p}\right)\right) \pmod{p},$$

where m is any integer not divisible by p .

There are many types of congruences containing binomial coefficients and Fibonacci, Lucas, Pell, and Pell–Lucas numbers. For example, Sun [9] gives the results

$$\begin{aligned} \sum_{k=0}^{(p-1)/2} \frac{F_{2k}}{16^k} \binom{2k}{k} &\equiv (-1)^{(p-1)/2 + [p/5]} \pmod{p^2}, \\ \sum_{k=0}^{(p-1)/2} \frac{F_{2k+1}}{16^k} \binom{2k}{k} &\equiv (-1)^{(p-1)/2 + [p/5]} \frac{5 + \left(\frac{p}{5}\right)}{4} \pmod{p^2}, \end{aligned}$$

where p is a prime number different from both 2 and 5.

Sun [10] also shows that for a prime $p > 5$

$$\sum_{k=1}^{(p-1)/2} \frac{(-1)^k}{k^3 \binom{2k}{k}} \equiv -2B_{p-3} \pmod{p},$$

$$\sum_{k=0}^{(p-3)/2} \frac{\binom{2k}{k}^2}{(2k+1)16^k} \equiv -2q_p(2) - pq_p(2)^2 + \frac{5}{12}p^2 B_{p-3} \pmod{p^3},$$

where B_n is the n th Bernoulli number.

Mao and Sun [4] establish that for a prime $p > 3$,

$$\sum_{k=1}^{p-1} \frac{\binom{2k}{k}}{k} H_k \equiv \frac{1}{3} \left(\frac{p}{3}\right) B_{p-2} \left(\frac{1}{3}\right) \pmod{p},$$

$$\sum_{k=1}^{p-1} \frac{\binom{2k}{k}}{k} H_{2k} \equiv \frac{7}{12} \left(\frac{p}{3}\right) B_{p-2} \left(\frac{1}{3}\right) \pmod{p},$$

where $B_n(x)$ denotes the Bernoulli polynomial of degree n .

Let p be a fixed prime bigger than 3. Define

$$q(x) := \frac{x^p - (x-1)^p - 1}{p} \quad \text{and} \quad G_n(x) := \sum_{k=1}^{p-1} \frac{x^k}{k^n},$$

where x is a variable.

From [1], it is known that

$$G_2(1) \equiv 0 \pmod{p}, G_1(1) \equiv 0 \pmod{p^2} \text{ and } G_2(-1) \equiv 0 \pmod{p}$$

as well as

$$\begin{aligned} G_2(x) &\equiv G_2(1-x) + x^p G_2(1-1/x) \pmod{p}, \\ q(x)^2 &\equiv -2x^p G_2(x) - 2(1-x^p) G_2(1-x) \pmod{p}, \\ q(x) &\equiv -G_1(x) \pmod{p}. \end{aligned} \tag{1.1}$$

Sun [7] obtains the following congruences: for an odd prime p and $G_n(x) \in \mathbb{Z}_p[x]$,

$$G_2(x) \equiv \frac{1}{p} \left(\frac{1 + (x-1)^p - x^p}{p} - \sum_{i=1}^{p-1} \frac{(1-x)^i - 1}{i} \right) + p \sum_{r=2}^{p-1} \frac{x^r}{r^2} \sum_{s=1}^{r-1} \frac{1}{s} \pmod{p^2},$$

and for a prime $p > 3$

$$npG_{n+1}(x) \equiv (-1)^n x^p G_n(1/x) - G_n(x) \pmod{p^2}.$$

Pan and Sun [5] obtain that for a prime $p > 5$,

$$\sum_{k=1}^{p-1} \frac{L_k}{k^2} \equiv 0 \pmod{p},$$

and for a prime p different from both 2 and 5,

$$\sum_{k=0}^{p^a-1} (-1)^k \binom{2k}{k} \equiv \left(\frac{p^a}{5}\right) \left(1 - 2F_{p^a-\left(\frac{p^a}{5}\right)}\right) \pmod{p^3},$$

where a is a positive integer.

2. Some congruences involving harmonic, Catalan, and Fibonacci numbers

In this section, we consider the congruences related to some special numbers. For this, first we will give some auxiliary lemmas:

Lemma 1 For $n > 1$ and $x \in \mathbb{R}$,

$$\sum_{k=1}^{n-1} \binom{n-1}{k-1} \frac{(-x)^k}{k} H_{k-1} = \frac{(1-x)^n - (-x)^n - 1}{n} H_{n-1} - \sum_{k=1}^{n-1} \frac{(1-x)^k - 1}{k(n-k)}.$$

Proof From the binomial theorem, we write

$$\begin{aligned} \sum_{k=1}^{n-1} \frac{(1-x)^k - 1}{k(n-k)} &= \sum_{k=1}^{n-1} \frac{1}{k(n-k)} \sum_{j=1}^k \binom{k}{j} (-x)^j \\ &= \sum_{k=1}^{n-1} \frac{1}{n-k} \sum_{j=1}^k \binom{k-1}{j-1} \frac{(-x)^j}{j} = \sum_{j=1}^{n-1} \frac{(-x)^j}{j} \sum_{k=j}^{n-1} \binom{k-1}{j-1} \frac{1}{n-k}, \end{aligned}$$

which, by the result

$$\sum_{k=j}^{n-1} \binom{k-1}{j-1} \frac{1}{n-k} = \binom{n-1}{j-1} (H_{n-1} - H_{j-1})$$

given in [6], equals

$$\begin{aligned} \sum_{j=1}^{n-1} \frac{(-x)^j}{j} \binom{n-1}{j-1} (H_{n-1} - H_{j-1}) &= \sum_{j=1}^{n-1} \frac{(-x)^j}{n} \binom{n}{j} (H_{n-1} - H_{j-1}) \\ &= \frac{H_{n-1}}{n} \sum_{j=1}^{n-1} \binom{n}{j} (-x)^j - \sum_{j=1}^{n-1} \frac{(-x)^j}{n} \binom{n}{j} H_{j-1} \\ &= \frac{(1-x)^n - (-x)^n - 1}{n} H_{n-1} - \frac{1}{n} \sum_{j=1}^{n-1} \binom{n}{j} (-x)^j H_{j-1}, \end{aligned}$$

as claimed. □

Lemma 2 For $n > 1$ and $x \in \mathbb{R}$,

$$\begin{aligned} & \sum_{k=0}^{n-1} \binom{n-1}{k} \frac{(-x)^{k+1}}{k+1} H_k \\ &= - \sum_{k=0}^{n-1} \binom{n-1}{k} \frac{(-x)^{k+1}}{(k+1)^2} - (1-x)^n \sum_{k=0}^{n-1} \binom{n-1}{k} \frac{x^{k+1}}{(k+1)^2 (1-x)^{k+1}}. \end{aligned}$$

Proof By Lemma 1, we have

$$\begin{aligned} & \sum_{k=1}^{n-1} \binom{n-1}{k-1} \frac{(-x)^k}{k} H_{k-1} \\ &= \frac{(1-x)^n - (-x)^n - 1}{n} H_{n-1} - \frac{1}{n} \sum_{k=1}^{n-1} \frac{(1-x)^k - 1}{k} - \frac{1}{n} \sum_{k=1}^{n-1} \frac{(1-x)^k - 1}{n-k} \\ &= \frac{(1-x)^n - (-x)^n - 1}{n} H_{n-1} - \frac{1}{n} \sum_{k=1}^{n-1} \frac{(1-x)^k - 1}{k} \\ &\quad - \frac{(1-x)^n}{n} \sum_{k=1}^{n-1} \frac{(1-x)^{-k} - 1}{k} + \frac{1 - (1-x)^n}{n} H_{n-1} \\ &= - \frac{(-x)^n}{n} H_{n-1} - \frac{1}{n} \sum_{k=1}^{n-1} \frac{(1-x)^k - 1}{k} - \frac{(1-x)^n}{n} \sum_{k=1}^{n-1} \frac{(1-x)^{-k} - 1}{k}, \end{aligned}$$

which, by the result

$$\sum_{k=1}^{n-1} \frac{x^k - 1}{k} = n \sum_{k=1}^{n-1} \binom{n-1}{k-1} \frac{(x-1)^k}{k^2} - \frac{x^n - (x-1)^n - 1}{n}$$

given in [5], equals

$$\begin{aligned} & - \frac{(-x)^n}{n} H_{n-1} - \sum_{k=1}^{n-1} \binom{n-1}{k-1} \frac{(-x)^k}{k^2} + \frac{(1-x)^n - (-x)^n - 1}{n^2} \\ & - (1-x)^n \sum_{k=1}^{n-1} \binom{n-1}{k-1} \frac{\left(\frac{x}{1-x}\right)^k}{k^2} + \frac{(1-x)^n}{n^2} \left((1-x)^{-n} - x^n (1-x)^{-n} - 1 \right) \\ &= - \frac{(-x)^n}{n} H_{n-1} - \sum_{k=1}^{n-1} \binom{n-1}{k-1} \frac{(-x)^k}{k^2} - \frac{(-x)^n}{n^2} - (1-x)^n \sum_{k=1}^{n-1} \binom{n-1}{k-1} \frac{\left(\frac{x}{1-x}\right)^k}{k^2} - \frac{x^n}{n^2} \\ &= - \frac{(-x)^n}{n} H_{n-1} - \sum_{k=1}^n \binom{n-1}{k-1} \frac{(-x)^k}{k^2} - (1-x)^n \sum_{k=1}^n \binom{n-1}{k-1} \frac{\left(\frac{x}{1-x}\right)^k}{k^2} \\ &= - \frac{(-x)^n}{n} H_{n-1} - \sum_{k=0}^{n-1} \binom{n-1}{k} \frac{(-x)^{k+1}}{(k+1)^2} - (1-x)^n \sum_{k=0}^{n-1} \binom{n-1}{k} \frac{x^{k+1}}{(k+1)^2 (1-x)^{k+1}}, \end{aligned}$$

as claimed. □

Lemma 3 Let p be an odd prime. For $x \in \mathbb{Z}_p$,

$$\sum_{k=1}^{(p-1)/2} \frac{x^k}{k} \equiv \frac{2}{p} - \frac{(\sqrt{x} + 1)^p - (\sqrt{x} - 1)^p}{p} \pmod{p}.$$

Proof Observe that

$$\sum_{k=1}^{(p-1)/2} \frac{x^k}{k} = \sum_{k=1}^{p-1} \left(1 + (-1)^k\right) \frac{(\sqrt{x})^k}{k} = \sum_{k=1}^{p-1} \frac{(\sqrt{x})^k}{k} + \sum_{k=1}^{p-1} \frac{(-\sqrt{x})^k}{k}.$$

By (1.1), we can write

$$\begin{aligned} \sum_{k=1}^{(p-1)/2} \frac{x^k}{k} &\equiv -\frac{(\sqrt{x})^p - (\sqrt{x} - 1)^p - 1}{p} - \frac{(-\sqrt{x})^p - (-\sqrt{x} - 1)^p - 1}{p} \\ &= \frac{2}{p} - \frac{(\sqrt{x} + 1)^p - (\sqrt{x} - 1)^p}{p} \pmod{p} \end{aligned}$$

which is as desired. □

Lemma 4 Let $p > 3$ be a prime. For $x \in \mathbb{Z}_p$,

$$\sum_{k=1}^{(p-3)/2} \frac{x^k}{2k + 1} \equiv \frac{1}{2p\sqrt{x}} \left((\sqrt{x} + 1)^p + (\sqrt{x} - 1)^p - 2(\sqrt{x})^p \right) - 1 \pmod{p}.$$

Proof Observe that

$$\sum_{k=1}^{(p-3)/2} \frac{x^k}{2k + 1} = \frac{1}{\sqrt{x}} \left(\sum_{k=1}^{p-1} \frac{(\sqrt{x})^k}{k} - \frac{1}{2} \sum_{k=1}^{(p-1)/2} \frac{x^k}{k} \right) - 1.$$

With the help of Lemma 3 and (1.1), we write

$$\begin{aligned} \sum_{k=1}^{(p-3)/2} \frac{x^k}{2k + 1} &\equiv \frac{1}{\sqrt{x}} \left(\frac{1 - (\sqrt{x})^p + (\sqrt{x} - 1)^p}{p} - \frac{1}{p} + \frac{(\sqrt{x} + 1)^p - (\sqrt{x} - 1)^p}{2p} \right) - 1 \\ &= \frac{1}{2p\sqrt{x}} \left((\sqrt{x} + 1)^p + (\sqrt{x} - 1)^p - 2(\sqrt{x})^p \right) - 1 \pmod{p}. \end{aligned}$$

Thus, we have the proof of Lemma 4. □

Now we can state our first main theorem.

Theorem 1 Let p be an odd prime. For $x \in \mathbb{Z}_p$,

$$\begin{aligned} \sum_{k=1}^{(p-1)/2} \binom{2k}{k} H_{k-1} x^k &\equiv \frac{1}{p\sqrt{1-4x}} \left((\sqrt{1-4x} + 1)^{p+1} - (\sqrt{1-4x} - 1)^{p+1} \right) \\ &\quad - \frac{2^p}{p} \left((\sqrt{1-4x})^{p-1} + 1 \right) \pmod{p}. \end{aligned}$$

Proof By Lemma 1, we write

$$\frac{2}{p-1} \sum_{k=1}^{(p-1)/2} \binom{\frac{p-1}{2}}{k} (-4x)^k H_{k-1} = 2 \frac{(1-4x)^{(p-1)/2} - 1}{p-1} H_{(p-3)/2} - 2 \sum_{k=1}^{(p-3)/2} \frac{(1-4x)^k - 1}{k(p-2k-1)}.$$

With the help of the congruences $\frac{1}{p-k} \equiv -\frac{1}{k} \pmod{p}$ and $\frac{1}{k(p-1-2k)} \equiv -\frac{1}{k(2k+1)} \pmod{p}$ for $k = 1, 2, \dots, (p-3)/2$, we have

$$\sum_{k=1}^{(p-1)/2} \binom{\frac{p-1}{2}}{k} (-4x)^k H_{k-1} \equiv \left((1-4x)^{(p-1)/2} - 1 \right) H_{(p-3)/2} - \sum_{k=1}^{(p-3)/2} \frac{(1-4x)^k - 1}{k(2k+1)} \pmod{p}.$$

Note that

$$\binom{2k}{k} = \binom{-1/2}{k} (-4)^k \equiv \binom{(p-1)/2}{k} (-4)^k \pmod{p},$$

and

$$H_{(p-3)/2} \equiv 2 - 2q_p(2) \pmod{p}$$

by [3]. Thus, we get

$$\begin{aligned} & \sum_{k=1}^{(p-1)/2} \binom{2k}{k} x^k H_{k-1} \tag{2.1} \\ & \equiv 2 \left((1-4x)^{(p-1)/2} - 1 \right) (1 - q_p(2)) - \sum_{k=1}^{(p-3)/2} \frac{(1-4x)^k - 1}{k(2k+1)} \\ & = 2 \left((1-4x)^{(p-1)/2} - 1 \right) (1 - q_p(2)) - \sum_{k=1}^{(p-3)/2} \frac{(1-4x)^k - 1}{k} \\ & \quad + 2 \sum_{k=1}^{(p-3)/2} \frac{(1-4x)^k - 1}{2k+1} \pmod{p}. \end{aligned}$$

From Lemma 4, it is clearly known that

$$\begin{aligned} \sum_{k=1}^{(p-3)/2} \frac{(1-4x)^k - 1}{2k+1} & \equiv \frac{1}{2p\sqrt{1-4x}} \\ & \quad \times \left((\sqrt{1-4x} + 1)^p + (\sqrt{1-4x} - 1)^p - 2(\sqrt{1-4x})^p \right) - q_p(2) \pmod{p}. \end{aligned}$$

In this way, substituting this congruence in (2.1), we find

$$\begin{aligned} & \sum_{k=1}^{(p-1)/2} \binom{2k}{k} x^k H_{k-1} \\ \equiv & 2 \left((1-4x)^{(p-1)/2} - 1 \right) (1 - q_p(2)) - \sum_{k=1}^{(p-3)/2} \frac{(1-4x)^k - 1}{k} \\ & + \frac{1}{p\sqrt{1-4x}} \left((\sqrt{1-4x} + 1)^p + (\sqrt{1-4x} - 1)^p - 2(\sqrt{1-4x})^p \right) \\ & - 2q_p(2) \pmod{p}. \end{aligned}$$

By Lemma 3 and $H_{(p-3)/2} \equiv 2 - 2q_p(2) \pmod{p}$, we have

$$\begin{aligned} & \sum_{k=1}^{(p-1)/2} \binom{2k}{k} x^k H_{k-1} \equiv 2(1 - q_p(2)) \left((1-4x)^{(p-1)/2} - 1 \right) \\ & - \frac{1}{p} \left((\sqrt{1-4x} - 1)^p - (\sqrt{1-4x} + 1)^p + 2^p \right) - 2 \left((1-4x)^{(p-1)/2} - 1 \right) \\ & + \frac{1}{p\sqrt{1-4x}} \left((\sqrt{1-4x} + 1)^p + (\sqrt{1-4x} - 1)^p - 2(\sqrt{1-4x})^p \right) - 2q_p(2) \\ = & -2q_p(2) (1-4x)^{(p-1)/2} - \frac{2}{p} (1-4x)^{(p-1)/2} - \frac{2^p}{p} \\ & + \frac{1}{p\sqrt{1-4x}} \left((\sqrt{1-4x} + 1)^{p+1} - (\sqrt{1-4x} - 1)^{p+1} \right) \\ = & \frac{1}{p\sqrt{1-4x}} \left((\sqrt{1-4x} + 1)^{p+1} - (\sqrt{1-4x} - 1)^{p+1} \right) \\ & - \frac{2^p}{p} \left((\sqrt{1-4x})^{p-1} + 1 \right) \pmod{p}, \end{aligned}$$

as claimed. □

Now we present two consequences of Theorem 1.

Corollary 1 *Let p be an odd prime. Then*

$$\sum_{k=1}^{(p-1)/2} (-1)^k \binom{2k}{k} H_{k-1} \equiv \frac{2^p}{p} \left(2F_{p+1} - 5^{(p-1)/2} - 1 \right) \pmod{p}, \tag{2.2}$$

$$\sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1}}{(-4)^k} \equiv 2 \frac{P_{p+1}}{p} - \frac{2^p}{p} \left(1 + 2^{(p-1)/2} \right) \pmod{p},$$

$$\sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1}}{8^k} \equiv \frac{1}{p} \left(\frac{P_{p+1}}{2^{(p-3)/2}} - 2^p - 2^{(p+1)/2} \right) \pmod{p}, \tag{2.3}$$

$$\sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1}}{9^k} \equiv \frac{2}{p} \left(\frac{2}{3}\right)^{p-1} \left(\frac{2}{3}F_{2p+2} - 3^{p-1} - 5^{(p-1)/2}\right) \pmod{p},$$

$$\sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1}}{(-16)^k} \equiv \frac{F_{3p+3}}{p2^p} - \frac{2^p}{p} - \frac{2}{p}5^{(p-1)/2} \pmod{p}.$$

Proof For the proof of (2.2), taking $x = -1$ in (2.1), we write

$$\begin{aligned} \sum_{k=1}^{(p-1)/2} (-1)^k \binom{2k}{k} H_{k-1} &\equiv \frac{1}{p\sqrt{5}} \left((1 + \sqrt{5})^{p+1} - (1 - \sqrt{5})^{p+1} \right) - \frac{2^p}{p} (5^{(p-1)/2} + 1) \\ &= \frac{2^{p+1}}{p} \left(\frac{\alpha^{p+1} - \beta^{p+1}}{\alpha - \beta} \right) - \frac{2^p}{p} (5^{(p-1)/2} + 1) \pmod{p}. \end{aligned}$$

Using the Binet formula of $\{F_n\}$, the desired result is clearly obtained. Similarly, the other results are given. \square

Corollary 2 Let p be an odd prime. For $\left(\frac{5}{p}\right) = 1$,

$$\begin{aligned} \sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1}F_k}{(-4)^k} &\equiv \frac{1}{p} (F_{2p+1} - F_{p+2}) - \frac{2^p}{p} F_{p-1} \pmod{p}, \\ \sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1}L_k}{(-4)^k} &\equiv \frac{1}{p} (L_{2p+1} + L_{p+2}) - \frac{2^p}{p} (L_{p-1} + 2) \pmod{p}, \end{aligned}$$

and for $\left(\frac{2}{p}\right) = 1$,

$$\begin{aligned} \sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1}P_k}{(-2)^k} &\equiv \frac{2^{(p+1)/2}}{p} (P_p - 1) - \frac{2^p}{p} P_{p-1} \pmod{p}, \\ \sum_{k=1}^{(p-1)/2} \binom{2k}{k} \frac{H_{k-1}Q_k}{(-2)^k} &\equiv \frac{2^{(p+1)/2}}{p} (Q_p + 2) - \frac{2^p}{p} (Q_{p-1} + 2) \pmod{p}. \end{aligned} \tag{2.4}$$

Proof We will give the proof of (2.4) as a showcase and leave the others to the readers. Taking $x = -\frac{\gamma}{2}$ in (2.1) and since $\gamma^2 = 2\gamma + 1$, we get

$$\begin{aligned} \sum_{k=1}^{(p-1)/2} \binom{2k}{k} H_{k-1} \left(-\frac{\gamma}{2}\right)^k &\equiv \frac{1}{p\sqrt{1+2\gamma}} \left((\sqrt{1+2\gamma} + 1)^{p+1} - (\sqrt{1+2\gamma} - 1)^{p+1} \right) \\ &\quad - \frac{2^p}{p} \left((\sqrt{1+2\gamma})^{p-1} + 1 \right) \\ &= \frac{1}{p\gamma} \left((\gamma + 1)^{p+1} - (\gamma - 1)^{p+1} \right) - \frac{2^p}{p} (\gamma^{p-1} + 1) \pmod{p}. \end{aligned}$$

From the Pell sequence $\{P_n\}$, it is known that $\gamma - 1 = \sqrt{2}$ and $\gamma\sqrt{2} = \gamma + 1$. Thus,

$$\begin{aligned} \sum_{k=1}^{(p-1)/2} \binom{2k}{k} H_{k-1} \left(-\frac{\gamma}{2}\right)^k &\equiv \frac{1}{p\gamma} \left((\gamma\sqrt{2})^{p+1} - (\sqrt{2})^{p+1} \right) - \frac{2^p}{p} (\gamma^{p-1} + 1) \\ &= \frac{(\sqrt{2})^{p+1}}{p} (\gamma^p + \delta) - \frac{2^p}{p} (\gamma^{p-1} + 1) \pmod{p}. \end{aligned} \tag{2.5}$$

Similarly, putting $x = -\frac{\delta}{2}$ in (2.1), and using $\delta - 1 = -\sqrt{2}$, $\delta^2 = 1 + 2\delta$, and $\delta\sqrt{2} = -\delta - 1$, we write

$$\sum_{k=1}^{(p-1)/2} \binom{2k}{k} H_{k-1} \left(-\frac{\delta}{2}\right)^k \equiv \frac{(\sqrt{2})^{p+1}}{p} (\delta^p + \gamma) - \frac{2^p}{p} (\delta^{p-1} + 1) \pmod{p}. \tag{2.6}$$

From (2.5) and (2.6), the proof is completed. □

We present our second theorem.

Theorem 2 *Let p be an odd prime. For $x \in \mathbb{Z}_p$,*

$$\begin{aligned} &\sum_{k=0}^{(p-1)/2} H_k C_k x^{k+1} \\ &\equiv \frac{2^p \left((1 - 4x)^{(p+1)/2} + 1 \right) - (\sqrt{1 - 4x} + 1)^{p+1} - (\sqrt{1 - 4x} - 1)^{p+1}}{2p} \pmod{p}. \end{aligned} \tag{2.7}$$

Proof By Lemma 2, we have

$$\begin{aligned} &\sum_{k=0}^{(p-1)/2} \binom{p-1}{k} \frac{(-4x)^{k+1}}{k+1} H_k \\ &= - \sum_{k=0}^{(p-1)/2} \binom{p-1}{k} \frac{(-4x)^{k+1}}{(k+1)^2} - (1 - 4x)^{(p+1)/2} \sum_{k=0}^{(p-1)/2} \binom{p-1}{k} \frac{(4x)^{k+1}}{(k+1)^2 (1 - 4x)^{k+1}}. \end{aligned}$$

From $\binom{(p-1)/2}{k} (-4)^k \equiv \binom{2k}{k} \pmod{p}$, we write

$$\begin{aligned} &\sum_{k=0}^{(p-1)/2} \binom{2k}{k} \frac{x^{k+1}}{k+1} H_k \\ &\equiv - \sum_{k=0}^{(p-1)/2} \binom{2k}{k} \frac{x^{k+1}}{(k+1)^2} - (1 - 4x)^{(p+1)/2} \sum_{k=0}^{(p-1)/2} \binom{2k}{k} \frac{(-x)^{k+1}}{(k+1)^2 (1 - 4x)^{k+1}} \pmod{p}, \end{aligned}$$

and then

$$\sum_{k=0}^{(p-1)/2} H_k C_k x^{k+1} \equiv - \sum_{k=0}^{(p-1)/2} \frac{C_k}{k+1} x^{k+1} - (1 - 4x)^{(p+1)/2} \sum_{k=0}^{(p-1)/2} \frac{C_k}{k+1} \left(\frac{x}{4x-1}\right)^{k+1} \pmod{p}.$$

Replacing x by $\frac{x}{4x-1}$ in

$$\sum_{k=0}^{(p-1)/2} \frac{C_k}{k+1} x^{k+1} \equiv \frac{(\sqrt{1-4x}+1)^p - (\sqrt{1-4x}-1)^p - 2^p}{2p} - (1-4x)^{(p+1)/2} + 1 \pmod{p}$$

given in [2], we have

$$\begin{aligned} & \sum_{k=0}^{(p-1)/2} H_k C_k x^{k+1} \equiv -(1-4x)^{(p+1)/2} \\ & \times \left(\frac{(\sqrt{1-\frac{4x}{4x-1}}+1)^p - (\sqrt{1-\frac{4x}{4x-1}}-1)^p - 2^p}{2p} - \left(1 - \frac{4x}{4x-1}\right)^{(p+1)/2} + 1 \right) \\ & - \frac{(\sqrt{1-4x}+1)^p - (\sqrt{1-4x}-1)^p - 2^p}{2p} + (1-4x)^{(p+1)/2} - 1 \\ & = \frac{(\sqrt{1-4x}-1)^p - (\sqrt{1-4x}+1)^p + 2^p}{2p} + (1-4x)^{(p+1)/2} - 1 \\ & - \frac{(1-4x)^{(p+1)/2} (\sqrt{1-4x}+1)^p - (1-\sqrt{1-4x})^p - 2^p (\sqrt{1-4x})^p}{(1-4x)^{p/2} 2p} + 1 - (1-4x)^{(p+1)/2} \\ & = \frac{(\sqrt{1-4x}-1)^p - (\sqrt{1-4x}+1)^p + 2^p}{2p} \\ & - \sqrt{1-4x} \frac{(\sqrt{1-4x}+1)^p - (1-\sqrt{1-4x})^p}{2p} + \frac{2^{p-1}}{p} (1-4x)^{(p+1)/2} \\ & = \frac{2^p \left((1-4x)^{(p+1)/2} + 1 \right) - (\sqrt{1-4x}+1)^{p+1} - (\sqrt{1-4x}-1)^{p+1}}{2p} \pmod{p}, \end{aligned}$$

as desired. □

Now we give some applications of the above results.

Corollary 3 *Let p be an odd prime. Then*

$$\begin{aligned} & \sum_{k=0}^{(p-1)/2} \frac{H_k C_k}{4^k} \equiv 4q_p(2) \pmod{p}, \\ & \sum_{k=0}^{(p-1)/2} \frac{H_k C_k}{8^k} \equiv \frac{1}{p} \left(2^{p+2} + 2^{(p+3)/2} - \frac{Q_{p+1}}{2^{(p-3)/2}} \right) \pmod{p}, \\ & \sum_{k=0}^{(p-1)/2} \frac{H_k C_k}{9^k} \equiv \frac{1}{p} \left(\frac{2}{3} \right)^{p-1} \left(3^{p+1} + 5^{(p+1)/2} - 2L_{2p+2} \right) \pmod{p}, \\ & \sum_{k=0}^{(p-1)/2} \frac{H_k C_k}{(-4)^k} \equiv 2 \frac{Q_{p+1}}{p} - \frac{2^{p+1}}{p} \left(1 + 2^{(p+1)/2} \right) \pmod{p}, \end{aligned}$$

$$\sum_{k=0}^{(p-1)/2} \frac{H_k C_k}{(-16)^k} \equiv \frac{4}{p} \left(\frac{L_{3p+3}}{2^p} - 2^{p+1} - 5^{(p+1)/2} \right) \pmod{p},$$

$$\sum_{k=0}^{(p-1)/2} (-1)^k H_k C_k \equiv \frac{2^{p-1}}{p} \left(2L_{p+1} - 5^{(p+1)/2} - 1 \right) \pmod{p}.$$

Proof Using the Binet formulae of $\{L_n\}$ and $\{Q_n\}$, the results are obtained from (2.7). □

Corollary 4 Let p be an odd prime. For $\left(\frac{5}{p}\right) = 1$,

$$\sum_{k=0}^{(p-1)/2} \frac{H_k C_k F_{k+1}}{(-4)^k} \equiv \frac{2}{p} (F_{2p+2} - (2^p + 1) F_{p+1}) \pmod{p}, \tag{2.8}$$

$$\sum_{k=0}^{(p-1)/2} \frac{H_k C_k L_{k+1}}{(-4)^k} \equiv \frac{2}{p} (L_{2p+2} + (1 - 2^p) L_{p+1} - 2^{p+1}) \pmod{p},$$

and for $\left(\frac{2}{p}\right) = 1$,

$$\sum_{k=0}^{(p-1)/2} \frac{H_k C_k P_{k+1}}{(-2)^k} \equiv \frac{2^{(p+1)/2} - 2^p}{p} P_{p+1} \pmod{p},$$

$$\sum_{k=0}^{(p-1)/2} \frac{H_k C_k Q_{k+1}}{(-2)^k} \equiv \frac{2^{(p+1)/2} - 2^p}{p} (Q_{p+1} + 2) \pmod{p}.$$

Proof We give only a proof for the congruence (2.8) as a showcase. The others could be similarly proved. By taking $x = -\frac{\alpha}{4}$ in (2.7), since $\alpha^2 = \alpha + 1$ and $\alpha + \beta = 1$, we write

$$\sum_{k=0}^{(p-1)/2} H_k C_k \left(-\frac{\alpha}{4}\right)^{k+1}$$

$$\equiv \frac{2^p \left(1 + (\sqrt{1+\alpha})^{p+1}\right) - (\sqrt{1+\alpha} + 1)^{p+1} - (\sqrt{1+\alpha} - 1)^{p+1}}{2p}$$

$$= \frac{2^p (1 + \alpha^{p+1}) - \alpha^{2(p+1)} - \beta^{p+1}}{2p} \pmod{p}. \tag{2.9}$$

Similarly, taking $x = -\frac{\beta}{4}$ in (2.7), since $\beta^2 = \beta + 1$ and $\alpha + \beta = 1$, we write

$$\sum_{k=0}^{(p-1)/2} H_k C_k \left(-\frac{\beta}{4}\right)^{k+1} \equiv \frac{2^p (1 + \beta^{p+1}) - \beta^{2(p+1)} - \alpha^{p+1}}{2p} \pmod{p}. \tag{2.10}$$

From (2.9) and (2.10), the claim is seen. □

Acknowledgement

The authors wish to thank the referee for his/her valuable suggestions, which led to a substantial improvement of paper.

References

- [1] Granville A. The square of the Fermat quotient. *Integers: Electronic Journal of Combinatorial Number Theory* 2004; 4: #A22.
- [2] Koparal S, Ömür N. Some congruences involving Catalan, Pell and Fibonacci numbers (submitted).
- [3] Lehmer E. On congruences involving Bernoulli numbers and the quotients of Fermat and Wilson. *Ann Math* 1938; 39: 350-360.
- [4] Mao GS, Sun ZW. Two congruences involving harmonic numbers with applications. *Int J Number Theory* 20016; 12: 527-539.
- [5] Pan H, Sun ZW. Proof of three conjectures on congruences. *Sci China Math* 2014; 57: 2091-2102.
- [6] Spieß J. Some identities involving harmonic numbers. *Math Comput* 1990; 55: 839-863.
- [7] Sun ZH. Congruences involving Bernoulli and Euler numbers. *J Number Theory* 2008; 128: 280-312.
- [8] Sun ZW. On Delannoy numbers and Schröder numbers. *J Number Theory* 2011; 131: 2387-2397.
- [9] Sun ZW. Curious congruences for Fibonacci numbers. <http://arxiv.org/abs/0912.2671>.
- [10] Sun ZW. p -adic congruences motivated by series. *J Number Theory* 2014; 134: 181-196.
- [11] Young PT. p -adic congruences for the generalized Fibonacci sequences. *Fibonacci Quart* 1994; 32: 2-10.